Microeconomics (Skill Development Exercise) 




Complete the following table and draw the curves.

What is difference between the AR, MR curves in monopoly and Perfect competition?

	Quantity
	Price
	TR
	AR
	MR

	0

1

2

3

4

5

6

7

8


	11

10

9

8

7

6

5

4

3
	
	
	


If TR = 1000Q-2Q2
TC = Q3 –59Q2 +1315Q +2000

Drive the profit function and maximize it.

Find firm’s equilibrium with MC= MR approach.

Microeconomics (Skill Development Exercise) 




1) Draw the demand, marginal-revenue, and marginal cost curves of a monopolist, show the profit maximizing level of output, and price.

2) Suppose price and quantity of CDs are given in the following table. Fill the remaining columns and solve the questions in the end.

	Price
	Number of CDs
	Total cost
	Total Revenue
	Marginal Revenue
	Profit

	24

22

20

18

16

14
	10000

20,000

30,000

40,000

50,000

60,000
	
	
	
	


CDs can be produce with no fixed cost and a variable cost of Rs.5 per CD

Graph Total Revenue, total cost and profit on same graph, and marginal revenue and marginal cost on another graph.

What quantity of CDs would maximize profit?

What would price be, what would profit be?

3) The demand curve facing a monopoly is 

P = 100-Q

The firm’s cost curve is C = 10 + 5Q

What is the profit-maximizing situation?

How does your answer change if cost function is C = 100+5Q
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